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Question One (Compulsory)
a) A surveyor measures the angle of elevation of the top of a perpendicular building as 10°. He moves

from 170m nearer the building and finds the angle of elevation is now 57°. Determine the height of
the building. (4 marks)
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tan x + sec x

=1
sec x(l + fan x j
sec X
b) Prove that (4 marks)
6cos’ @ +5cos0—6=0 0 0° 360°
¢) Solve for values of from to . (4 marks)
3,-5 2x+y+4=0
d) Find the distance from the point to the line (4 marks)
(53 (21

e) Give the equation of the curve that is locus of all points equidistant from points and

(5 marks)

f) Determine the radius and the co-rodinates of the centre of the circle given by the equation
x*+y*+8x-2y+8=0

. Sketch the circle. (4 marks)
15
smAz% COSB_E sin(A+ B]
g) If and , where A is obtuse and B is acute, find the exact value of 0
(5 marks)

Question Two
a) Give the length of a, the length of the focal chord; and the equation of the parabola, which is the locus
x=-3

of all points equidistant from the point (3, 0) and the . Sketch the parabola. (5 marks)

b) Find the equation of a circle that pass through the points (1, 1), (2, 2) and (3, 3). Explain your results.

(10 marks)
AABC
¢) Find C, B a and the area of the triangle given A =30°% b =4cm and c = 5cm. (5 marks)
Question Three

cos B —sin o
tanx=———-—
sin(x +2) = cos(x — B) cosa —sin B

a) If . Show that (5 marks)

3x* +y*+10x+32=0
b) Reduce the equation to an eclipse in standard form. (7 marks)

¢) Find the Foci, directrices , eccentrics, latis rectum and equation of the assumptotes of the hyperbola
(x=0)" _[y-0)°
¥ e !
described by the equation. (8 marks)
Question Four
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r =sec@tan @
Change the equation to an equation in rectangular coordinates. (5 marks)

r=2+2cos6
Sketch the graph of the equation (5 marks)

3x—y—-2=0
Find to equation of a line parallel to and passing through the point (5, 2)
(5 marks)
Find the equation of the tangent line, the equation of the normal line, and the lengths of the tangent
4
2
=—X
J 3
and the normal of: at (3, 2) (5 marks)

Question Five

a)

b)

Find the points of contact of the horizontal and vertical tangents to the curve represented by the
parametric equation.

x=3—4sin 0
(@)
y=4+3cos0
(ii) (6 marks)
0 o°
Plot the graph of the curve by taxing from  to 360° in increment of 30°, given that
£=—4cos¢9 £=—35in9
A6 AO
and (10 marks)
PL]) 631
Find the equation of every circle that passes through to point and and its tangent to the
y=-3x
line (10 marks)
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